[ 1] INPUT GROUP REFERENCE PLANE $11.9 THRU
12 HOLES EQUALLY SPACED

[2] PTO GROUP MOUNTING FACE USE 8.8 PROPERTY CLASS QUALITY - 204.0 —t- 204.0 ——=
CAPSCREWS PER ISO 898-1 AND TORQUE |
(3] LEFT MOUNTING BRACKET FACE TO S574 OR SERVICE MANUAL VALUES. 05.4
®13.5 THRU <—81.7H
[4] RIGHT MOUNTING BRACKET FACE 13 TRy UALLY SPAGED 1
USE 8.8 PROPERTY CLASS QUALITY 13.0
CAPSCREWS PER ISO 898-1 AND TORQUE ' 5
NOTES: TO S574 OR SERVICE MANUAL VALUES T‘ 6.0 S
A. PROPORTIONAL CONTROL VALVE OPERATION T \
1. WARNING - DO NOT CONNECT VALVE COIL DIRECTLY [ 1

TO BATTERY/ POWER SUPPLY VOLTAGE i
2. OPERATION TO BE PERFORMED WITH ONLY 1T |

|
é
130.0 —=

|
TWIN-DISC CONTROL SYSTEM MODULES 'F N E /_% c\,
| (42]
B. MANUAL DIRECTIONAL CONTROL VALVE OPERATION I rl L I < C;’
1. WITH MANUAL DIRECTIONAL CONTROL VALVE IN CENTERED \ N AL
POSITION PUSH TO ENGAGE PRIMARY CLUTCH ] {

{

POSITION PULL TO ENGAGE SECONDARY CLUTCH
C. MANUAL DIRECTIONAL CONTROL VALVE MODE SWITCH

I
2. WITH MANUAL DIRECTIONAL CONTROL VALVE IN CENTERED ll
|
|
|

1. SWITCH IS NORMALLY CLOSED WHEN MANUAL DIRECTIONAL . 0O OIL FILTER

CONTROL VALVE IS IN CENTERED POSITION AND OPEN ®) © I , 19.0 mm CLEARANCE REQUIRED o

WHEN LEVER IS ACTUATED FROM CENTERED POSITION o m = o % ﬂ TO REMOVE FILTER CANISTER. <
2. CURRENT = 20 AMP MAX. 2 Qu F Ju L / 4 APPLY OIL TO FILTER GASKET.
3. FOR WIRING SCHEMATIC REFER TO CONTROL DRAWING W Sy = Ly H—— / TIGHTEN FILTER AN ADDITIONAL

ST < % é/s SOF TURN AFSTES FILTCER |
8 o / ASKET MAKES CONTACT RN
D. REFERENCE $930 FOR TWIN DISC REQUIREMENTS FOR PRESSURE s 3 E & 17.5 DRILL THRU

AND TEMPERATURE ALARM LEVELS. !

E. UNLESS OTHERWISE SPECIFIED FASTENER TORQUE VALUES AS i -
|
|

4 HOLESFOR LIFTING
MARINE TRANSMISSION ONLY.

O

@ V6150201

==/

J BREATHER OR/

OIL FILLER HOLE

PER S574 STANDARD.

F. ALL POINTS AVAILABLE FOR TESTING CODED <:> / :%
]

OIL FILLER HOLE
WHEN ENGINE IS
NOT RUNNING

N b o MAIN PRESSURE PORT
| ‘ M12x1.5 METRIC PORT
! v |t CONFORMS TO ISO 6149
o 2 w ] CONNECT OIL PRESSURE
, ] ‘ GAUGE LINE HERE.
ﬂan e TIGHTENING TORQUE 16+1.5 Nm
MAIN PRESSURE PORT 1L
FLYWHEEL OUTLINE l(\;/lé 0x1 é) MESTR(I)C ggRT @@
MUST CONFORM TO NFORMS TO ISO 6149
SAE J620, NO.355 SECTION A-A TIGHTENING TORQUE 12+1.5 Nm LUBE PRESSURE PORT
SAE#T HOUSING <):(> M14x1.5 METRIC PORT
CONFORMS TO ISO 6149
MOUNTING FACE TIGHTENING TORQUE 20+2 Nm PRIMARY CLUTCH(FIRST)
MUST CONFORM ACTUATING PRESSURE PORT -
TO SAE J617 @ M12x1.5 METRIC PORT
SECONDARY CLUTCH(FIRST) CONFORMS TO ISO 6149
ACTUATING PRESSURE PORT TIGHTENING TORQUE 16+1.5 Nm
M12x1.5 METRIC PORT
CONFORMS TO ISO 6149
TIGHTENING TORQUE 16+1.5 Nm SEE NOTE "C"
@ OIL INLET FROM HEAT EXCHANGER SEE NOTE "A"
" Bl N ST
- 5 - NTROL VALVE
TIGHTENING TORQUE 8848 Nm 5 mm TRAVEL FROM CENTERED
REMOVE ALUMINUM THREAD POSITION (EACH DIRECTION) _ INPUT SPEED SENSOR PORT
PROTECTOR BEFORE | SEE NOTE 'B' = 5/8-18UNF-2B TH'D.
‘ % OPERATING UNIT. @ 5% TARGET WHEEL 45 TEETH
SEE NOTE "A" =
0 IS == o |
& = PR S i TN A % % PRIMARY CLUTCH(FIRST) i — e @ ]
N 1 FILTER DRAIN | i —— = %/&% M14 ?Fsu?\;ls’ESTURRlE Egg 1 A il
o ! [ [ I~ X1, H = o
© | & M10x1.0 METRIC PORT PRIMARY | O]E oteat oy CONFORMS TO ISO 6149 mg =) ° f@/ i @ :
@ | %%rl\l_'FTcém/lN% T_I_OO EC?UESEMi% N SHAFT @ s T © @OW hogepy A "b% TIGHTENING TORQUE 20+2 Nm ' | @ ! Y
: + m AN SN //[ : : @) ‘: N N + . |
| 3 “. 1O O AT \& N\ H ' e
SECONDARY CLUTCH(FIRST) 3 ) | s N I
= [l PRESSURE PORT Billlse2 OIL GAUGE g | _ﬂ;
_ _ _ - e : M14x1.5 METRIC PORT WD), A TWIN . > ) ~ =
i - CONFORMS TO SO 6149 O K pisc® T,
| o= ezl TIGHTENING TORQUE 20+2 Nm \ B FARRN PRIMARY CLUTCH(SECOND) H T
| ( 3 W PRESSURE PORT e |
| nwal + M14x1.5 METRIC PORT = i |
- — -\ e -+ | \ CONFORMS TO ISO 6149 ] |
Si=r = | ol -1 \ TIGHTENING TORQUE 20+2 Nm I
. RN = OIL OUTLET TO HEAT EXCHANGER -
- 4@— —— — = M33x2.0 METRIC PORT { ENL7 | Q @ —H
Y4 M D ' CONFORMS TO ISO 6149 | t o & s
S — R = e TIGHTENING TORQUE 8848 Nm
NI = REMOVE ALUMINUM THREAD !
. ©_| PROTECTOR BEFORE i
N ’ @ | ‘ - OPERATING UNIT. LUBE PRESSURE PORT ~ O 1 U]
3 50 1 il - M14x1.5 METRIC PORT Sz OUPUT @ |
= < 0 —- s CONFORMS TO ISO 6149 o5 SHAFT ¢ M) X %'_
> Q | | | \ TIGHTENING TORQUE 20+2 Nm o I )
| o I » - H ]
- = - \ - = 1 A\ O T I;-I - ~
N I 21.3 mm CLEARANCE @ s
@ \ S = REQUIRED TO S f l = B - G} @ @ 5
_ _ — ‘f;_,f REMOVE PUMP % CENTER OF/ : : I|I IE
206.2 H GRAVITY | 5, I
(CoG) - .l SECONDARY CLUTCH(SECOND) !
I PRESSURE PORT .
N NE T CONFORMS TO 180 6149 = —B - gi N
| N 0 OIL STRAINER 0
| | 3 EJ TIGHTENING TORQUE 20+2 Nm MA12x1.75 THREAD. 12.0 DEEP S
90 mm CLEARANCE REQUIRED S 40 - —
B ‘ TO REMOVE OIL STRAINER %'6 V= E& |
| | 25.0 —=
| . > -
&b\“:—— l— ] g g_/
(o))
| o) OUTPUT SPEED
M20X2.5 , THREAD, 32.5 DEEP A ° SENSOR BRACKET
12 HOLES. USE ALL (12) HOLES, _ .| 438 TARGET WHEEL: 64 TEETH
—= 51.0 =— 127.0 —= 6 PER SIDE FOR MOUNTING. - (CoG)
USE GRADE 8.8 PROPERTY CLASS - 305.0 - 305.0 -
-~ 2540 — = CAPSCREWS PER ISO 898-1 Z
AND TORQUE TO S574. DIREC TION OF OUTPUT OIL DRAIN PLUG
FLANGE ROTATION 13330 THREAD
(R.H. ENGINES DRIVING CONEORMS T6 1SO 6149 ~—107.3 —=—1= 453.2 -
THRU PRIMARY CLUTCH)
CENTER OF 15 mm CLEARANCE REQUIRED
GRAVITY TO REMOVE PLUG ~ 534.9 -
TEMPERATURECPOORT
M14x1.5 METRIC PORT - | NDWF-3000313 [09/26/2017
CONFORMS TO ISO 6149 REV CHANGE NO. DATE
TIGHTENING TORQUE 20+2 Nm
©»225.0 $196.0 H.C CIRST USE ASSEMBLY. e 333 405 /\ |/| MATERIAL: DATE:
REF ) T FIRST USE MODEL: MGX-5146SC . . \CDJ |\, ;Eg%é#%ﬁ 23{;_2/2017
w_{ ' EQUIPMENT SHOWN: SIMILAR TC - o vyt — AL 1:4 RACINE, WI 53403 - USA
8 HOLES g&%&&@“gﬁxgég “MGX-5146SC PER 1027661 ASSEMBLY M ET R C RGNS DIES IOV DRAVI BY:
: SAE # 1 SHORT/SAE 355 CF-R-318-HR NOTICE! THIS PRINT CONTAINS PROPRIETARY INFORMATION AND IS ?8& i%%g DESCRIPTION: CHECKED BY: ] 027662D
GP VALVE WITH EC300 HARNESS NOT TO BE USED IN ANY MANNER DETRIMENTAL TO THE INTEREST OF | A | ANGULAR TOLERANCES +1°
VIEW B'B s nomica \VIN DISC, INCORPORATED s GEOMETRIC TOLERANCING INSTALLATION APPROVED BY: |DWG SHEET: REV:
GRANTED TO THE U.S. GOVERNMENT OR OTHERS BY CONTRACT. PER ASME Y14.5M 1994 MGX'51468C DV SIZE: A1 1 OF 1 -

F E | D C | B | A 1025420W Rev. A



	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3
	Drawing View4
	Drawing View13
	Section View A-A
	Drawing View16


